

ARLINGTON COUNTY, VIRGINIA OFFICE OF THE PURCHASING AGENT 2100 CLARENDON BOULEVARD, SUITE 500 ARLINGTON, VIRGINIA 22201

NOTICE OF RENEWAL

TO: S & S Worldwide, Inc. ORIGINAL DATE ISSUED: January 29, 2019

75 Mill Street CONTRACT NO: 19-178-R

Colchester, CT 06415 CONTRACT TITLE: Arts, Crafts & Classroom

Supplies

THIS IS A NOTICE OF RENEWAL AND NOT AN ORDER. NO WORK IS AUTHORIZED UNTIL THE VENDOR RECEIVES A VALID COUNTY PURCHASE ORDER ENCUMBERING CONTRACT FUNDS.

The contract documents consist of the terms and conditions of AGREEMENT No. 19-178-R including any attachments or amendments thereto.

EFFECTIVE DATE: June 15, 2022

EXPIRES: June 14, 2023

RENEWALS: NO RENEWALS REMAINING.

ATTACHMENTS:

Exhibit A - Contract Amendment #4

EMPLOYEES NOT TO BENEFIT:

NO COUNTY EMPLOYEE SHALL RECEIVE ANY SHARE OR BENEFIT OF THIS CONTRACT NOT AVAILABLE TO THE GENERAL PUBLIC.

VENDOR CONTACT: Carol Mares / Sandra Cervini	VENDOR TEL. NO.:	(800) 642-7354 Ext 2255
EMAIL ADDRESS: cmares@ssww.com / scervini@ssww.com		
COUNTY CONTACT: Farah Shakour-Bridges	COUNTY TEL. NO.:	<u>(703) 228-7785</u>
COUNTY CONTACT EMAIL: fshakour- bridges@arilingtonva.us		

CONTRACT AUTHORIZATION

THE COUNTY BOARD OF ARLINGTON S & S WORLDWIDE, INC.

COUNTY, VIRGINIA

PRINT: DR. SHARON T. LEWIS

DocuSigned by:

Carol Mares
PRINT: ______
DocuSigned by:

SIGNATURE: Or. Sharon T. Lewis SIGNATURE: Carol Maris

TITLE: PURCHASING AGENT TITLE: Bid Analyst

DATE: ______ DATE: ______ DATE: _____

10.0 ATTACHMENT A

VENDOR NAME: StS Worldwide, I.C.

	ITEM DESCRIPTION	EST QTY	EST UNIT	UNIT	EXTENDED
	THEN DESCRIPTION	911	DIAIL	PRICE	PRICE
1	COLORING PACK W/ VARIOUS COLORS (COUNT/400) Crayola® Large Crayon Classnack™ (400ct) or Equal				
	Brand Name: Crayola Item# SC548	100	вох	\$42.32	54132.00
2	MARKERS (PK/12) Cravola & Classic Markers or Equal				
_	Brand Name: Crayola Hem# SC1048	100	PK	s 4.23	5423.00
7	COLORED PENCILS (BOX/24) Cravola@ Colored Pencils or Equal				
3	Brand Name: Crayola Item# 50433	100	вох	s 3.18	\$318.00
4	OIL PASTELS CLASSPACK (SET/336) Cravola® Oil Pastels Classpack™ or Equal				
4	Brand Name: Crayola Item# 5C995	75	SET	529.60	06.06662
	SIDEWALK CHALK (PK-152) Crayola® Sidewalk Chalk Fun Bucket or Equal				
5	Brand Name: Crayola Ilem# 501182	50	PK	54.04	\$ 202.00
	WASHABLE TEMPORA PAINT 16 oz. Crayola & Washable Paint or Equal				
б	Brand Name: Crayola 11em# PT136	75	ĒΛ	s 2.70	,202.50
	ACRYLICS PAINT (PK/4) Color Splashl® Acrylic Paint (4 Pack 32-oz.) Set with Pump Or Equal				
7	Brand Name: Colorsplash Item# 13357 - 8	100+	PK	s 33.60	s3360.00
	WASHABLE WATERCOLORS (SET/16) Crayola® Washable Watercolors or Equal				
8	Brand Name: Grayola Item# Pr3325	100	SET	\$ 2.68	5268,00
	FINGER PAINT (SET/4) Carola® Finger Paint, Primary Colors or Equal	==	300		
9	Brand Name: Have Art Item# PT3540X	50	SET	9.20	460.00
	FINGER PAINT (SET/4) CENTIL Finger Paint, Secondary Colors or Equal	30	361	3	3
10	Brand Name: Handy AA Item# FB540XX			9.20	460.00
		50	SET	<u> </u>	<u> </u>

ARTS, CRAFTS & CLASSROOM SUPPLIES RFP RFO 7763 Page 32 of 36

S&S WORLDWIDE 75 MILL STREET COLCHESTER, CT 06415

	GLUE STICKS (PK/30) Elmer's® Glue Sticks or Equal	· T	- 67		
11	Brand Name: LSTYTER 5 Rem# CSL 594 Purple	100	PK	s 11.00	00.0011 2
12	WHITE GLUE Elmer's White Glue - Gallon Size (128 oz.) or Equal		-		
	Brand Name: EMES Item# GL627	100	EA	s 13.95	s139.50
13	GLITTER GLUE (SET/72) Color Splashl® Glitter Glue Pens of Equal	ı		100	
13	Brand Name: Blorsplash Hem# GL610	100	SET	5.68	56.8.00
14	TACKY GLUE Color Splash! & Ultra Tacky All Purpose Craft Glue, 8 oz. or Equal				
14	Brand Name: Aleenes Item# GLT22B	100+	EΑ	\$ 2.15	,21500
15	CRAFTSTICKS 3/8" x 4-1/2". (BOX/1,000)				
	COLORED CRAFTSTICKS - REGULAR (PK/S00)	50	BOX	5298	s 149.00
16	Brand Name: Limited Item# 05612	50	PK	s4.60	\$ 230,00
	PLAY DOUGH/CLAY Crayola Air-Dry Clay, 25th Classnack or Equal				
17	Brand Name: Cray ol a Arr Dry nem# CL304	50	EA	\$30.00	s 1500.00
18	Charille Craft Set 9 Creativity Street or Equal ACS97	50	SET	s 24.00	\$1450.00
	INK PADS (PK/12) Color Splashi® Washable Color ink Pads or Equal				01100
19	Brand Name: Colorsplash Item# GA 2793	50	РК	08.012	s 540,00
20	STAMPS (SET/10) Number Stamps (numbers 0-9, Size: 1-5/8* high.)				
-	Brand Name: DCD Item# EC 5859	50	SET	s 17.00	\$850.00
21	GLITTER Color Splash! Glitter 11b, Shaker Top or Equal				
	Brand Name: Colors Insh Item# XM 2000 8 Colors available	100	EA	s 5.48	s548.00
22	YARN Color Splashing Acrylic Yarn 30z or Equal				VI.
	Brand Name: 6107 Splash Hem# YA1224 Le Co 1075 AVAL-lable PIPE CLEANERS (PK/1000) Chenille Stems or Equal	100	EA	s1.47	s 147.00
23	_				
	Brand Name: Colors Plash Ilem# TRIDL	100	PK	57.68	s768.00

ARTS, CRAFTS & CLASSROOM SUPPLIES RFP RFQ 7763 Page 33 of 38

S&S WORLDWIDE 75 MILL STREET

COLCHESTER, CT 06415

FOAM SHEETS (PK/78) 9" x 12" EVA Foam Sheets (2mm Thick,			1	
assorted colors of Edual				
Brand Name: Calorsplash Item# AC822			720	730.00
SCISSORS (PK/12) Fiskars® Scissors for Kids or Equal	100	PK	\$ 1.000	572000
Brand Name: FISKOUS Item# 52 626 Blunt	รถ	nv	20,88	51044:00
		12	3	3
GAMES				
MANCALA		-		
Brand Name: Pressman Item# U147	10		-598	E0 97
	10	<u>EA</u>	30.10	s59.80
	10	EA	.758	s75.80
		EA	3	2 10100
-	10	EA	:7.58	\$75.80
				310.00
Brand Name: #05hro Item# W10764		1		
LEGOS Sat/884 byicks	10	EA	s1450	s 125.00
Brand Name: 1000				
118 TO 10 10 10 10 10 10 10 10 10 10 10 10 10	50	PK.	67.60	\$ 3380,0
SPECIFIC KITS			5	S
			5	5
Brand Name: for 15 shirts Item# FA 3250	đ	Pr.	1290	\$55.20
DECODATIONS	=		\$	S
			\$	\$
Brand Name: All right 1100015				
TIME THE THE THE THE THE THE THE THE THE TH	100	BAG	\$6.45	s645.00
ARTS & CRAFTS			\$	S
FUSE BEADS DK/6000			\$	2
Brand Name: 515 Item# BEI 22.1	1	94/6000	C 3 5	(30
WOOD BEADS DK/IDO	-5000	BAG	2 2'20	\$ 5,30
Brand Name: Limited Item# BE2002	600	94/100	. 1.35	8.10
			CLASSROOM S	1 3 ==
			REPE	₹FQ 7763
	Brand Name: Colors of Equal Brand Name: Colors of Equal SCISSORS (PK/12) Fiskers Scissors for Kids of Equal Brand Name: Fiskors Nem# SE WIT Founted GAMES MANCALA Brand Name: Ficasyrvan Nem# WID705 SORRY Brand Name: Hosbro Nem# WID705 SORRY Brand Name: Hosbro Nem# WID705 APPLES TO APPLES Brand Name: Log D Nem# LR 3542 SPECIFIC KITS TIE-DYE KITS JOCAWARD Brand Name: Fw 15 shirts Nem# FA 3350 DECORATIONS LATEX BALLOONS PK/144 A351 COlors Brand Name: Aurient Nem# GA34e ARTS & CRAFTS FUSE BEADS PK/6000 Brand Name: St5 Nem# BE1321 WOOD BEADS PK/100	Brand Name: Coldisplash Item# AC822 SCISSORS (PK/12) Fishers® Scissors for Kids or Equal S2. Cold Blunt S2. Cold S3. Cold S4. Cold S5. Cold S5. Cold S5. Cold S4. Cold S5. Cold S6.	Brand Name: Colors of Equal Scissors for Kids of Equal Scissors (PK/12) Fishers Scissors for Kids of Equal Scissors (PK/12) Fishers Scissors for Kids of Equal Scissors for Kids of Equal Scient Brand Name: ACS 23 100 PK Scissors for Kids of Equal Scissors for Kid	Brand Name: Caldraplash Item# ACS 22 100 PK \$7.20

ATTACHMENT 1 - RFQ 7763-D - S&S

5&S WORLDWIDE 75 MILL STREET COLCHESTER, CT 06415

	GLASS BEADS				
35	Brand Name: Darice Item# BE1285	50		215	110.15
36	MOSAIC BEADS ASST STEES, Shapes+Colors	50	BAG	s 3.15	s 157.50
30	Brand Name: DID Item# BEII30				
	PAPER BEADS STYSTON MORLING bead 5	50	BAG	s 2.40	s 120.00
37		1	ĺ		
\vdash	Brand Name: Royloo Hem# EC4439 Being discontinued - Limited Stock available	500	BAG	54.75	\$ 23.75
38	bird, Circle, fish, aci Lo				
	Brand Name: Terrogram Ilem# LE3108 1425	ľ		1120	151 00 m
	ALPHABET BEADS PK/144	500	BAG	\$11.20	s5600.00
39	Brand Name: StS Ilem# BE446			[
-		500	BAG	\$1.15	\$575.00
40	VARIOUS JEWELRY FINDINGS + 174 - 50- 3pring TIN 50-12" Pinbacks, att-barrel dasps, 50- baachains	93	0.1		
	llem#_JE/XX	- 34	14/174	s 8.02	\$ 8.02
1	AIR DRY CLAY 5# Bucket	VARIES	BAG	\$ 0.001	\$ 0.07
41	Brand Name: Crayola Item# CL346		5-LB Bucket		106.00
-		25	DOX	\$7.8D	195.00
42	O CD TUD				
	Brand Name: Croupla Item# CL103	2	Вох	, 15.00	,30.00
43	DECORATIVE DUCK TAPE SPECIFY COLON/design		BUX	3 10.00	\$ 50,00
7	Brand Name: Shurtape Ilem# AS658	1	Pall	200	
	50LB WEIGHT SULFITE PAPER White 9X12	ROLL	Roll	53.98	s 398
44	Brand Name: <u>Pacon</u> Ilem# PE 767	1	500sht		
		1 00 SH	per pr	s 5.89	,5.89
45	FINGER PAINTS (VARIOUS COLORS) 16 OZ		1602	-	3
	Brand Name: Hardy Art Item# PT3540	1	bottle	020	034
	FADELESS CONSTRUCTION PAPER 9X12 94505h5	16- 02	BOT	5 21.30	52.30
46	Brand Name; Tru-Roy Item# PE4000	1	PH/50	1.48	
		60SH	PW/50 51/13	S PK	84.1
47		0474			
	Brand Name: Roselle Item# EC3343	10-		215	3,00
	SUPER BRIGHT TAG BOARD 9X12 PK/100	100	PK	5 کا، 3	s365,00
48	Brand Name: Pacon Item# PE1824				
		100	PK	s11.50	s 1150.00

ARTS, CRAFTS & CLASSROOM SUPPLIES RFP RFQ 7763 Page 35 of 38

S&S WORLDWIDE 75 MILL STREET COLCHESTER, CT 06415

	CANVAS 60"Wx 2.405				
49	Brand Name: 545 Item# BDQT1	1	zyd	23.00	
-	PAINT RDUCIES	2YDS	ROLL	5 24dec	\$ 23.00
50	Brand Name: Limited Item# AB3720		PK/24	5.86	. 5.86
	FOAM SHAPE STICKERS PK/312	***	PK	3 2100	\$ 2.00
51	Brand Name: StS Item# ACS20	-VAR	PK/312	, 27.00	27.00
	FELT (9x12 SHEETS) PK/12	-VAR	178.	2	2
52	Brand Name: <u>515</u> Item# <u>FA3187</u>	25	PK/12	. 198	s 396
	POM POMS ASST SIZES + COLDIS	725	PK.	2	S
53	Brand Name: Limited Item# TR185	1	pound	6.47	6.47
	TISSUE PAPER PK/100 ASO ODIOTS	802.6W	1 PK	5	\$
54	Brand Name: facon Rem# PE 1728	1	PK/100	. 7.19	.7.19
	MAGNETS PK/50 3/4" round	100-911	-P IC -	\$ /.1.1	2 1.1.1
55	Brand Name: Magnum Item# A5610) VA R	PK/50	,4.40	, 4.40

#29819.80

ARTS, CRAFTS & CLASSROOM SUPPLIES RFP RFQ 7763 Page 38 of 38